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1. 
48𝑥2−27

16𝑥2+24𝑥+9
=

3(16𝑥2−9)

(4𝑥+3)2
=

3(4𝑥+3)(4𝑥−3)

(4𝑥+3)2
=

𝟑(𝟒𝒙−𝟑)

𝟒𝒙+𝟑
 

 

2. 𝚰   100 − 25% = 75                                                                                   

𝚰𝚰   75 − 12% = 75 − 75 
12

100
= 75 − 9 = 66 

66 ∶ 304 = 100 ∶ 𝑥 

𝒙 =
304 ∙ 100

66
= 𝟒𝟔𝟎. 𝟔𝟏 
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1

2
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1
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∙
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√2
+ 

𝑖2

2

=
1

1

2
−𝑖−

1

2

=
1

−𝑖
 ∙

𝑖

𝑖
=

𝑖

−𝑖2 =
𝑖

−(−1)
= 𝒊 

 

4. c) 

 

5. D = b2 − 4 ∙ a ∙ c = (𝑚 − 5)2 − 4 ∙ (𝑚 − 2) ∙ 1 = 𝑚2 − 10𝑚 + 25 − 4𝑚 + 8 = 𝑚2 − 14𝑚 + 33 

D = 0 =>   m2 − 14m + 33 = 0 

m1,2 =
14 ± √142 − 4 ∙ 1 ∙ 33

2
=

14 ± √196 − 132

2
=

14 ± √64

2
=

14 ± 8

2
 

𝐦𝟏 =
14−8

2
= 𝟑         𝐦𝟐 =

14+8

2
= 𝟏𝟏 

 

6. y = k ∙ x + n              y − 𝑦1 = 𝑘 ∙ (𝑥 − 𝑥1)                 𝑘 =
1

3
 

(3, −4)                        y + 4 =
1

3
 ∙ (𝑥 − 3)     

                                          y + 4 =  
1

3
∙ x − 1 

                                          𝑦 =
1

3
∙ 𝑥 − 5 

a) (−5, 1)   y = −
5

3
− 5 

b) (−𝟔, −𝟕)  𝐲 =  −
𝟔

𝟑
 − 𝟓 =  −𝟕 

c) y =
2

3
− 5 

d) y =
1

3
− 5 

 

7. 𝒂 = 𝟓. 𝟔, 𝒃 = 𝟎. 𝟔 

(𝑎 + 2)2 − 2(𝑎 + 2)(𝑏 − 3) + (𝑏 − 3)2 =  (𝑎 + 2 − (𝑏 − 3))
2

= (𝑎 + 2 − 𝑏 + 3)2 = 

= (𝑎 − 𝑏 + 5)2 = (5.6 − 0.6 + 5)2 = 102 = 𝟏𝟎𝟎 

 

8. −
5

2∙x2−18
> 0        =>      

−5

2(x2−9)
> 0      =>      x2 − 9 < 0          

x2 − 9 = 0           x1,2 = ±3            𝐱 ∈ (−𝟑, 𝟑)              

 



9. 3 + log2 x =
4

log2 X
                  𝐬𝐦𝐣𝐞𝐧𝐚: log2 x = t 

3 + t =  
4

t
     ∙ t               t1,2 =

−3 ± √9 + 16

2
=

−3 ± 5

2
 

3t + t2 =  4                         t1 =
−8

2
= −4 

t2 + 3t − 4 =  0                 t2 = 1 

log2 x = −4                              𝐱𝟏 = 𝟐−𝟒 =
𝟏

𝟏𝟔
 

log2 x = 1                                 𝐱𝟐 = 𝟐𝟏 = 𝟐 

 

10. cos α = ±√1 − 𝑠𝑖𝑛2𝛼 = −√1 − 0.82 = −√1 − 0.64 = −√0.36 = −0.6 

cos (α −
π

3
) = cosα ∙ cos

π

3
+ sin α ∙ sin

π

3
=  

= −0.6 ∙  
1

2
+ 0.8 ∙  

√3

2
=

0.8 ∙  √3 − 0.6

2
 

 

 

11. P = B1 + B2 + M = 16π + 4π + 32.31π = 52.31π cm2 

 
𝐁𝟏 = R2 ∙  π = 𝟏𝟔𝛑 𝐜𝐦𝟐 

𝐁𝟐 = r2 ∙  π = 𝟒𝛑 𝐜𝐦𝟐 

𝐌 = (R + r) ∙ S ∙  π = (4 + 2) ∙  √29 ∙  π = 𝟑𝟐. 𝟑𝟏 𝛑 𝐜𝐦𝟐 

V =
H

3
 ∙ (B1 + B2 + √B1 ∙ B2 ) 

V =
5

3
 ∙ (16π + 4π + √16π ∙ 4π ) 

𝐕 =
5

3
 ∙ (20π + 8π ) =

5 ∙ 28𝜋

3
=  

𝟏𝟒𝟎

𝟑
𝝅 

 
H2 + (R − r)2 = S2               52 +  22 = S2            25 + 4 =  S2       =>     𝐒 = √𝟐𝟗 𝐜𝐦 

 

12.     f(x) =
1

x−4
    g(x) =

1

x
 

    h(x) =  f(x) + g(x) =
1

x−4
+ 

1

x
=

x+x−4

(x−4)∙x
=

2x−4

(x−4)∙x
=  

2∙(x−2)

(x−4)∙x
 

DOMEN:       (𝑥 − 4) ∙ 𝑥 ≠ 0                     𝑥 − 4 ≠ 0                         𝑥 ≠ 4    ∧    𝑥 ≠ 0  

NULE:             h(x) = 0   =>    2(x − 2) = 0   =>    x − 2 = 0   =>     x = 2         𝐍(𝟐, 𝟎) 


